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01 0186-01 [ERIRHTRRE |JLFFE Eih 0.10 0.12 — N4EE
01 0186-02 [ERIRETERE  |JLEFIREAID FAI7ILE 0.07 0.10 0.15 (1475 fE
01 0187-01 [ERIRETRRE |JLFFR Eih 0.13 0.14 — [4EE
01 0208-01 |fRIRATRE |HATF Eih 0.15 0.13 0.27 [145%
01 0208-02 |fRIRBTREE  |;EKIIIER T AI7ILE 0.07 0.10 0.19 [147% k=
01 0208-03 [fRIRETRRE |HXEE a9y —k 0.08 0.09 0.13 [145% =
01 0209-01 |ERIRBTREE |HFIRE b F| 0.12 0.11 0.20 [147% =
02 0223-01  |ERIRETREE  |;FKIIE B ih 0.14 0.13 —  [14®RE
02 0224-01 [ERIRETRRE |8/ 0 21 0.10 0.14 — [4ERE
02 0224-02 [ERIRETRRE |8/ 0O a9 —k 0.07 0.10 0.17 [145% =
02 0224-03 [fR3RETRRE |=RO FAI7ILE 0.07 0.08 0.14 [145% =
02 0224-04 |fRIRETRRE | rERERI FAI7ILE 0.08 0.10 0.17 [1475% 5=
02 0224-05 |fRIRETRRE [AJIE FAI7ILE 0.07 0.09 0.16 [145% =
02 0224-06 [HR3RETRE | ER FAI7ILE 0.08 0.10 0.15 [145% =
02 0240-01  |ERIRETREE | KH Eih 0.12 0.14 — [14%E
02 0240-02 [ERIRETERE |E/.E T AI7ILE 0.08 0.12 0.20 (145 k=
02 0240-03 |ERIRETRRE |F/F avyl)—k 0.12 0.12 0.27 |14 5=
03 0256-01 |ERIRETREE  [HJH T AI7ILE 0.11 0.16 0.23 [147% k=
03 0256-02 [ERIRETRE |/MNR T AI7ILE 0.11 0.15 0.25 |14 k=
03 0256-03 [ERIRETRRE |/MNR Eih 0.16 0.19 — 4% E=
03 0257-01 [ERIRETRRE | TAR Eih 0.15 0.19 0.32 [145% =
03 0274-01 |fRiRETERE [T E (X 0.16 0.17 0.38 [14%E
04 0291-01 [ERIRETRRE |EFE 2 Hh 0.24 0.23 — 4R
04 0292-01 |fRIRBTRE [HE/F 121 0.21 0.24 — 4%
04 0292-02 |fRIRATRE = FAI7ILE 0.13 0.16 0.28 [145% =
04 0309-01 |fRIRETRE |BE T FAI7ILE 0.15 0.20 0.41 |14 =
04 0309-02 |fRIRATEEE  [FEEFHI B 0.22 0.25 0.44 [14EE
04 0309-03 |ERIRETREE  |HIAIIR 123 0.15 0.17 0.49 [145%E
05 0293-01 [ERIRMT 3 EE 121t 0.11 0.14 — N4ERE
05 0310-01 |fRIRATRE MR FAI7ILE 0.20 0.29 0.42 |147%5F
05 0310-02 [ERIRETRE /NS fbF 0.21 0.27 0.55 |14/ =
05 0310-03 [ERIRETRRE /NS FbF 0.26 0.33 0.51 |14k
05 0310-04 [ERIRETERE | EEFT FAI7ILE 0.11 0.15 0.25 (1475
05 0311-01 [BRIRETEE FAI7ILE 0.14 0.16 0.46 (1475 ]=
05 0311-02 |3z MT 5% BE i 0.16 0.23 —  |14%E=
06 0325-01 [fRIRETRRE |[HEEH FAI7ILE 0.19 0.22 0.44 (145 fE
06 0325-02 |fRIRETRRE [RIR Hih 0.24 0.28 — 4% E=
06 0325-03 [fRIRHETRRE | KF T AI7ILE 0.22 0.24 0.40 |147% =
06 0326-01 |fR3RATRE |[/MNELL 2 1ih 0.23 0.30 —  |[14%EE
06 0341-01 |fRIRATRE [8BFHR FAI7ILE 0.16 0.22 0.48 (145 =
06 0341-02 [HR3RETRRE |8 FHIR 21ih 0.19 0.21 — [4ERE
06 0342-01 |fRIRATRE [8BFHIR 12 0.33 0.39 — [4ERE
07 0357-01  |ERIRBTREE  |[BR/EK FAI7ILE 0.17 0.25 0.51 [145% k=




MEHRERER (BRIRFr (ALER) - EHRAT 5ME)

(RIERDRA]
CHO—BRFAEITYTLDAV AZNETNDOAEHERE. Ay 1B SIRICRELIZLDOTY,
BECRAERYT LDOAVS1FES L RO LN SHICAA ST, T 1kmIAH AV 2 (KEL

Aya)  RIZB00mMAYS 2 (NS AV 1) DIRICESZESOTVEY,
CRIEBEORTI — IENFENTVSIE, F-ICRAIEBERELS-ECA T, URTOBRIE T —2HV7E0

=HTY,
EAE
Ayva Bl F 5 A (H251E3 ﬁﬁlﬁlE ﬁﬁ/zg
e asar |FDBITE |(H24%E3 [(H2356 | L

RRWE mE |pax (Aax | BP

Aya KF INFE fir: u Sv |({B[EL: [{B[E4L:

&5 |BimES /h] 1 Sv/h] | 1 Sv/h]
07 0357-02 [ERIRETRRE  |BR/EK £ 0.23 0.28 — N4EE
07 0358-01 [ERIRETRRE | AEhie Fih 0.40 0.53 — N4EE
07 0372-01 [fRIRETRRE | Ef8R 2 1h 0.26 0.32 — [4EE
08 0386-01 |fRIRETRRE [T 24 0.30 0.37 — |14k
08 0386-02 |fRIRATREE [#8R FAI7ILE 0.19 0.26 0.46 (145 fE
08 0400-01 |ERIRETZEF |BYv = ZEih 0.36 0.38 —  [138Rix
08 0401-01 [ERIRETRRE  |HRiE FAI7ILE 0.18 0.25 0.46 (145 E
08 0401-02 |fRIRETERE [IRTF 24 0.45 0.51 — 4% E=
09 0414-01 [ERIRMATZEF T AI7ILE 0.26 0.38 0.71 [138RiR
09 0414-02 |[ERIRMT5ZEF Eih 0.34 0.43 —  [13fRix
09 0415-01  |ERIRBTIZEF |[BVE Zih 0.48 0.60 — 138k
09 0446-01 |ERIRAT ;5 EF Eih 0.51 0.63 —  [138RiR
09 0447-01 [ER3RET 5%  |AR Fih 0.44 0.55 —  [138RiR
10 0480-01 |ERIRAT 5% |[ART FAI7ILE 0.25 0.33 0.79 [138RiR
10 0480-02 |fRIRET;ZEF |ART Hih 0.58 0.81 —  [138RIR
10 0480-03 |BRIRETZEF [EFK T AI7ILE 0.45 0.57 0.74 (1383
10 0513-01 [ERIRET 5% |ART 2 1h 0.43 0.60 138k i
10 0514-01 [ERIRETZ%F (AT 24 0.30 0.70 —  |138kiR
10 0514-02 |fRIRETZ%F (AT T AI7ILE 0.47 0.62 1.05 |138R kR
11 0548-01 |[BRImHET AELW Eih 0.59 0.76 —  |3fRik
11 0549-01 |fRIRBTIZEF  [BZR D7) 0.27 0.39 0.70 [138RiR
11 0583-01 |ERIRHET FLU B ih 0.73 0.89 —  [138RiR
11 0584-01 |[ERIRHET I 2t 0.27 0.41 1.21 [138R 3R
0086 |01 BRIRBTRE  |FERMLL Eih 0.13 0.15 —  |[14%E=
0086 |02 BRIRBTRE AR MLL Eih 0.12 0.15 —  |14%EE
0086 [03 SORETRE  [[ER 21h 0.13 0.16 — 1455
0086 |04 SRR [&R FAI7ILE 0.06 0.10 0.26 |14 E
0113 o1 SORETRE [ £/ FAI7ILE 0.07 0.10 0.22 [14%RE
0113 |02 BRIRETRRE  [BX ELL L F 0.12 0.15 —  [14EE
0113 |03 RIRETRE [ £/ 23 0.14 0.14 —  [14EE
0113 |04 IRBTERE  |BREL 21 0.19 0.18 — N4EE
0137 |01 SIRBTRE  |/MNREE i 0.14 0.17 — [4EE
0137 |02 IRBTRE | =/RME 2 1h 0.15 0.16 — NaEE
0137 |03 RIRBTREE  |HEUR a9y —k 0.12 0.11 0.22 (145 fE
0137 |04 RIRBTREE  |HhEUR 2 1h 0.13 0.15 — [4EE
0138 |01 BRIRBTREE  |HhEUR Eih 0.17 0.13 0.33 [147% =
0138 |02 RIRBTRE  |FES Eih 0.20 0.22 1455 RE
0138 |03 IRBTRE  [FER 21ih 0.13 0.16 —  |[14%E=
0146 |01 BRIRBTREE |G FAI7ILE 0.06 0.08 0.14 [145% =
0146 |02 BRIRBTREE |G 21ih 0.07 0.08 1472
0146 |03 FORBTREE [ 21 0.08 0.10 — [14ERE
0146 |04 FORBTREE [ 2ih 0.07 0.10 — [14EE
0162 |01 ORBTREE  [AIL/#OR (B 0.15 0.14 — [4EE
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0162 [02 SIRBTREE [ KA ML Hifh 0.13 0.12 —  |[145%RE
0162 [03 BRIRETRRE  |E/IRW Eih 0.11 0.13 0.18 [147% )=
0162 [04 BRIRETRRE  |EZiRIW 2 ih 0.13 0.15 —  [14ERE
0164 |01 BRIRETRRE  |BEIFERIL Eih 0.13 015 | — |14/%kE
0164 |02 BRIRETRRE |5 iRIL & ih 0.10 011 | — |14k
0164 [03 IRBTRE |5k 12 1h 0.11 0.12 0.20 [147% =
0211 |01 RIRBTRE  |fAA 12 1h 0.11 0.10 —  |145%BE
0211 |02 RIRETREE  |FAA FAI7ILE 0.09 0.10 0.14 [14% =
0211 |03 IRBTRE  |fA St 0.13 0.13 —  |[14%E=
0211 |04 ERIRETRRE  |IL)IR 2 4h 0.08 0.09 — 4%
0259 |01 FIRETRE [=ER Eith 0.10 0.12 —  |147%E=
0259 |02 FIRETRE [=EBR Eih 0.09 0.10 0.24 [147%RE
0259 |03 SIRETRE [=ER Eith 0.09 0.10 1475 FE
0554 |01 SIRETZEr  [AlR Eih 0.47 0.61 —  [138RiR
0554 |02 BRIRETZE Bl Eih 0.25 0.36 —  [13fRIR
0554 [03 SIRETZE  [AIdER Fith 0.56 0.77 —  |138RiR
0572 |01 BRIR BT P E i 0.35 0.42 —  |138RiR
0572 |02 IRETHRE (2 /F Eih 0.54 0.57 1.05 |138R R
0572 |03 IRETHRE (2 /F i 0.35 0.40 —  |13fRiR
0587 |01 RIRETZE  [BRE Hifh 0.59 0.69 —  |138Rikx
0587 |02 RIRETZE I8 B ith 0.52 0.68 —  [13fRix
0587 |03 tRIREBTZEr  |/REA Hih 0.46 0.60 0.90 |138k 3R
0588 |01 BRIRETZE | EHEWL £t 0.33 0.44 0.90 [138RiR
0588 [02 IRETZE |RER Hih 0.37 0.47 — 138k
0588 |03 BRIRBTZEF  |FRIEAN Eih 0.40 0.52 — 138k
0589 |01 RIRETZE  [#H i 0.33 0.39 —  [138RiK
0589 |02 IRETZE  ([EH Eih 0.40 0.49 —  [138RiR
0589 |03 SIRETZE  |EH Eih 0.41 0.57 —  [138RiR
0607 |01 IRETHRE  [FAER Eith 0.28 0.36 0.85 [138k 3R
0607 [02 IRETHRE (AR Fih 0.31 0.42 13RI
0607 [03 SIRETHRE  [FER R 0.30 0.56 —  |138RiR
0617 |01 R IR AT L FREE Eiih 0.62 0.83 —  |13fRiR
0617 [02 B 3R BT g8 /11 i 0.67 0.70 —  |13fRiR
0617 |03 B 3R BT /0 2ith 0.59 0.81 1.25 |138R3R
0618 |01 B 3% BT HEET Eih 0.63 0.80 —  |138kikK
0618 [02 B 3% BT RO Eih 0.43 0.70 —  |[138kikK
0618 [03 B3 BT J\IE#H Hih 0.63 0.85 —  [13fRiR
0619 |01 B 3z BT iR av9)—k 0.22 0.31 0.57 |138kiR
0619 [02 B 3% BT RiE/H a>91)—k 0.23 0.29 1.06 |138R3R
0619 |03 B 3% BT INE FAI7ILE 0.31 0.45 —  [138kiK
0619 |04 R IR AT J\IEA FAI7ILE 0.22 0.36 —  [13fRiR
0620 |01 SIRETZE  [BERI b F 0.53 0.68 0.86 [138R3R
0620 [02 BRIRET S |[FE4IR FAI7ILE 0.43 0.62 138K
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0620 [03 SIRETZE BT FAI7ILE 0.24 0.39 —  |138RiR
0620 [04 IRETZE |87 R FAI7ILE 0.22 0.30 —  |138RiR
0620 [05 B 3R BT FRHET 0 F 0.51 0.61 0.88 [13fRiR
0621 |01 IRBTZEF | KFAI Eiih 0.47 0.63 —  [138RiR
0621 [02 RIRETIZE | KF Eih 0.33 0.47 —  |13fRiR
0621 |03 IRBTZE | Eih 0.38 0.47 —  [138kiK
0622 |01 RIRBTZEF  |#H 12 h 0.26 0.35 —  [13fRix
0622 |02 RIRETEE (#9015 2ih 0.28 0.34 0.73 [138R3R
0622 |03 IRBTZE | KF Eih 0.36 0.48 —  |138kiK
0645 |01 SORETRE  [FEE Hih 0.83 1.19 — [13fRiR
0645 |02 SURETH S,  [3E:3 Eih 0.78 1.02 —  |138RiR
0645 [03 SORETRE (8 Bih 0.57 0.80 1.23 138K
0647 |01 RIRAThE iR Eih 0.59 0.73 —  |13fRiR
0647 |02 RIRETHE iR 2 0.97 0.98 —  |13fRiR
0647 |03 SIRETHE  [RE Eith 0.42 0.46 —  [13fRIR
0648 |01 SIRETHRE  [HE Hifh 0.60 0.79 —  |138RiR
0648 |02 SORETHE (AR Eih 0.61 0.77 — 138k
0648 |03 SORETHE (AR Eih 0.66 0.82 —  |138Rikx
0649 |01 IRETHRE  |[hFF 2 0.66 0.57 —  [138RiR
0649 |02 B 3R BT By 12 1h 0.23 0.52 —  [13fRix
0649 |03 RIRETHRE  [FW B ith 0.74 0.88 —  [13fRix
0650 |01 fRIRETREF  |#AR 12 0.79 0.89 —  [13fRix
0650 [02 tRiRETREr  |SEFE Eith 0.47 0.82 — [13fRiR
0650 [03 RIRETREF  [[EE B 0.60 0.77 —  |138R3x
0651 |01 el £8/11 Eih 0.61 0.73 — 138K
0651 |02 SIRETHEF | RAHI Hih 0.71 0.89 —  [138RIR
0651 |03 SIRETHE  [IA Eih 0.64 0.78 —  |13fRiR
0652 |01 ERIRETREF  |fElfRrRk Fih 0.48 0.67 1.09 [138R3K
0652 |02 RIRETREF  [HTAEI 2ith 0.57 0.91 —  [138kiK
0652 |03 BRI BT i Fith 0.53 0.98 1.63 [138RIR
0653 |01 Bk ¥ HT TAHI a9y —k 0.37 0.65 0.42 [13fRiR
0653 [02 B 3 BT 5i5 D F 0.12 0.21 0.81 |138RiR
0653 [03 B3R BT ST HT av91)—k 0.23 0.33 — 138k
0653 |04 B 3R BT TR 2 0.54 0.71 0.62 [138RiR
0653 |05 B 3R BT YEHT a9 —k 0.29 0.43 —  [13fRix
0653 |06 B 3R BT YEHT a9 —k 0.27 0.49 0.79 |138kiR
0654 |01 IRETZE  [=FRT FAI7ILE 0.55 0.77 —  |13fRiR
0654 |02 B 3% BT Xy av9)—k 0.52 0.67 0.76 |138kiR
0654 [03 tRIRET 58 |8F b F 0.39 0.52 0.91 [138R3R
0654 |04 IRETZE  |Y&/ L 121 0.50 0.63 1.06 [138R3R
0654 |05 B3 BT +HT FAI7ILE 0.50 0.62 0.89 [138RiR
0655 |01 IRETZE  |S4 a9y —k 0.17 0.23 —  [138kiK
0655 [02 SIRETZEr  [BHfHET FAI7ILE 0.31 0.44 — 138k




BECRAERYT LDOAVS1FES L RO LN SHICAA ST, T 1kmIAH AV 2 (KEL

MEHRERER (BRIRFr (ALER) - EHRAT 5ME)

CRIERDRA]
CO—ERIFAMEIVT LOAVATN TN OAERRE. A1 BSIRICREALILOTT,

Aya)  RIZB00mMAYS 2 (NS AV 1) DIRICESZESOTVEY,
CRIEBEORTI — IENFENTVSIE, F-ICRAIEBERELS-ECA T, URTOBRIE T —2HV7E0

=HTY,
EAE
Ayva Bl F 5 A (H251E3 ﬁﬁlﬁlE ﬁﬁ/zg
rem swne |FVEIE |(H24%5E3 [(H2356 | .

RRBE g |pax (Bax | EX

Aya KF INFE fir: u Sv |({B[EL: [{B[E4L:

&5 |BimES /h] £ Sv/h] | 1 Sv/h]
0655 |03 IRBTZE  [4EHET FAI7ILE 0.22 0.32 —  [138kiR
0656 |01 BIRETZE  |BEH Eih 0.51 0.65 —  |138kiR
0656 |02 IRBTZEF | FARED Eih 0.42 0.53 —  [138R3K
0656 |03 RIRETZE | ILIE Eih 0.47 0.62 — 3Rk
0683 |01 BORETHE  [HER b F| 0.34 0.44 —  [138R3K
0683 |02 ORETHEF  [4EH Eih 0.58 0.69 — |3tk
0683 |03 fRIRETRE /IR b F 0.28 0.42 0.79 |138R 3R
0684 |01 tRIRETRE  |SE Eih 0.54 0.82 — [13fRiR
0684 |02 RIRETHEr  [4EH HEih 0.64 0.85 —  [138kiK
0684 |03 SORETHE  [(HE Eih 0.51 0.65 —  |138kiK
0685 |01 SORETHRE  [FM Eih 0.72 0.82 1.04 [138Rkx
0685 [02 SIRETHE  [SE A F 0.57 0.80 — 138k
0685 |03 SIRETHRE  [SEXET Fih 0.36 0.54 —  |13fRiR
0686 |01 IRETHRE (A0 i 0.81 0.99 —  [13fRiR
0686 [02 ERIRETREF  |SEEAD Eih 0.67 0.88 —  [13fRIR
0686 [03 SIRETHRE  |5H EHh 0.64 0.82 —  |138kiR
0687 |01 BIRETEE: AT Eih 0.71 0.97 —  [13fkix
0687 [02 fRIRETRE | R.EI 24 0.78 1.02 —  |3gRik
0687 |03 tRIRETREr | S 2 Hh 0.59 0.83 — |13
0688 |01 PIRETFEF  [BAF Hih 0.69 0.98 — |3tk
0688 |02 B 3% BT I\& Eih 0.81 1.01 1.34 [138R3R
0688 |03 IRETHRE  [FA/\& b F 0.63 0.84 —  |13fRiR
0689 |01 B3 BT R FAI7ILE 0.48 0.86 —  |138kiK
0689 [02 R IR BT BRE FAI7ILE 0.19 0.28 —  |138kiK
0689 |03 R IRET F I BT FAI7ILE 0.40 0.56 —  [138RiK
0689 |04 B3R BT =58 2 0.58 0.79 1.27 [138R3iK
0690 |01 B3R BT EXry 2 1#h 0.72 0.93 —  [13fRIR
0690 |02 AR 3w BT EXTy i 0.44 0.64 —  [138RiR
0690 [03 BRIRETZE  [J\FHT Eith 0.65 0.82 —  |13fRiR
0691 |01 BRIRET 55 |H AR T AI7ILE 0.23 0.37 0.72 | 138k 3R
0691 [02 IRETZE | BB Eih 0.41 0.63 —  [13fRiR
0691 |03 RIRETZE  |HA 24 0.33 0.54 0.95 |138RiR
0691 |04 RIRETZEr  |RE/IE 24 0.46 0.58 —  |138kiR
0692 |01 BRIRET 55 |HE/KT i 0.59 0.77 — 133K
0692 [02 RIRETZE R Eih 0.53 0.71 —  [138R3K
0692 |03 RIRAT S8 |[B@E 2ih 0.41 0.56 —  [13fRiR
0719 ot KEAE 75l F3x 21ih 0.33 0.41 0.99 [11{EfE
0719 |02 IRBETHRE [RG5S Eih 0.55 0.71 1.30 [138R 3R
0719 |03 IRETHRE  |[FASH Eih 0.50 0.71 —  |138kikx
0720 |01 KEAE Bl Fx Zih 0.45 0.50 — [1EE
0720 |02 SRIRETHEF |[SHEI Eh 0.54 0.70 —  |138kikx
0720 |03 SIRETHRE  [SHAI Eih 0.64 0.80 —  [13fRIR
0721 o1 RIRETHE  [/MIH 21 0.73 0.93 —  [13fkix
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0721 |02 BRIRETEE  IRT Zih 0.72 0.90 —  |138RiR
0721 |03 BIRETFE  [RK/TF b F 0.53 0.72 —  |138RiR
0722 o1 IRETEE  |AR 2 ih 0.65 0.74 —  [138RiR
0722 |02 SRIRETEEF  |dblu/# Eih 0.84 1.03 —  |13fRiR
0722 |03 BRIRBTEEF | FRAD i 0.66 0.94 —  [138RiR
0723 |01 BRIRETERF |G Eith 0.65 0.91 —  |13fRiR
0723 |02 BRIRBTEE;  |BE/MA Eih 0.80 1.13 —  [138kiK
0723 |03 IRETEE | ARLE Eih 0.78 1.02 —  [138RiR
0724 |o1 SORET R [ E/[R T AI7ILE 0.35 0.54 —  [138Rix
0724 |02 SIRETEE  [BR/LE T AI7ILE 0.32 0.46 —  [13fkik
0724 |03 SORETEE  |[EEEI e 0.38 0.63 1.39 [138R3R
0724 |04 RIRETFEE  |BXH T AI7ILE 0.70 0.89 — 138k
0725 |01 BRI BT RIIR 1R 1h 0.60 0.75 2.13 [138 3
0725 |02 Bk ¥ HT FEfer H Eih 0.57 0.75 —  [138kiR
0725 |03 RIRETEE  [BXH 0 F 0.58 0.73 —  [138R3R
0726 |01 IRETZE Kot 12 ih 0.67 0.85 —  |13fRiR
0726 [02 BRIz BT AR i 0.61 0.77 —  |138RiR
0726 |03 B3R BT [EES Eih 0.65 0.83 —  |13fRiR
0727 |01 BRIRETZE | FTT EA] Eih 0.67 0.84 —  |13fRiR
0727 |02 RIRETZE | FH Eih 0.65 0.92 —  |13fRiR
0727 |03 RIRATZE  |[ER 2t 0.52 0.66 1.02 [138R3K
0728 |01 RIRBTZEF  |REEF 121 0.40 0.58 0.87 [138RIR
0728 |02 RIRETZEF  [URAD 121 0.74 0.94 1.05 [138R3R
0728 |03 RIRET S |BR Hih 0.67 0.83 —  [138RIR




	Sheet1

